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MEGOLDOKULCS

Foo1 - Fo14

8db
16 cm
32 cm

2 (1em,1cm, 4 cm és1cm, 2 cm, 2 cm)
8 cms
4 cm?

1 darabot
248 cm3
28 cm?

8 cms

70 cms3
10 cmz?

1cm
8 cms

4 cmz2
2 cm?
4 db
8db

7 cm?
6 cms3
42 cms3
12 cms
86 cmz2



FooS8

a)
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c)
d)
e)

Foo9
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b)
c)

Fo1o0
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c)
d)
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Fo11

a)
b)
c)

Fo12

a)
b)
c)
d)

Fo13

a)
b)
c)
d)

Fo14

a)

b)
c)

8 darabbal
19 db
1cms

19 cm3
1cm

2 darabot
3cm, 5 cm és'7 cm
30 cm?

24 ¢

27 db
330¢g
37db

4 cm-rel

2 cm
2 cm, 2 ¢cm és 4 cm
40 cm?

8 db

64 cms3
56 cmz2
136 cm?

27 cm3

1cm, 1cmés 3 cm
4 darabot

24 cm?

lehetségesek:
a. 1cm,1cm, 12 cm
b. 1cm,2cm, 6 cm
c. 1cm,3cm,4cm
d. 2cm,2cm, 3cm

50 cm?

1 cms3



